1. Structural learning (B algorithm)

1.1. Population size: bisection
1.1.1. 48 successful runs

Log Probability

Fitness function

1.1.2. 2unsuccessful run

Log Probability

1
U  pp———
0098 o
00
-10| 00 * 08
e
0%y 0.7
-20 ok
L 20.6] o ¥
oy 2 K
-30 o 5
g 05
0w | °
-40 os T o4
os
. . s
50 of o MPE 03 o MPE
6ol o+ + Optimum 02 + Optimum|
¥ ° Best Ind
. Best Ind o1 i es!
70 s
o E
0 5 10 15 20 25 30 0 10 20 3 40 5 60 70
Generations Generations
SLgsase
06
130 0°? 90|
o
120 °° 80
o
110 o g™
100f © & 60
2
90 g%
S
E 40
80 3
< 30
70 o MPE
o 20|
60l Best Ind
10|
50
[ 5 10 15 20 25 30 0 20 40 60 80 100
Generations Generations
TF50T
ol 130 0,0°°"0
S )
e 120 0°°
S
50} & . o 110
k2 i £
F S 100
8 %
2
-100 T 80
3 o MPE
o 70 o MPE
+ Optimum
sestind 60 Best Ind
-150 50
[ 20 40 60 80 100 0 5 10 25 30 35
Generations Generations
90|
80
z 70
S
g 60
o
2 50|
K
S
E 40
s
8
< 30
20|
10|
0 20 40 60 80 100
Generations



1.2. Population size: half of bisection

1.2.1. 28 successful runs
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2. Using Complete structure

2.1. Population size: bisection

2.1.1. 10successful runs
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2.2. Population size: half of bisection

2.2.1. 6 successful runs

Log Probability

Fitness function
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3. UsingBivariate structure

3.1. Population size: bisection (0 succesful runs)

3.2. Population size:
3.2.1. 3successful runs

half of bisection
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